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5,921 =

(i) 5000+900+20 (ii)) 5000+20+1 (iii) 900+20+1 (iv) 5000+900+1 (v) 5000+900+20+1
2,872=

(i) 2000+70+2 (ii) 2000+800+70 (iii) 2000+800+2 (iv) 800+70+2 (v) 2000+800+70+2
854 =

(i) 800+4 (ii) 800+50+4 (iii) 800+50 (iv) 50+4

994 =

(i) 900+90+4 (ii) 900+4 (iii) 90+4 (iv) 900+90

32,645=

(i) 30000+2000+600+5 (ii) 30000+600+40+5 (iii) 2000+600+40+5 (iv) 30000+2000+40+5
(v) 30000+2000+600+40+5

52,512=

(i) 50000+500+10+2 (ii) 50000+2000+10+2 (iii) 50000+2000+500+10+2 (iv) 50000+2000+500+2
(v) 2000+500+10+2

2000 + 800 + 50 + 4=

(i) 3854 (ii) 1854 (iii) 12854 (iv) 2854 (v) 2844

9000 + 200 + 60 + 5=
(i) 8,265 (ii) 9,265 (iii) -735 (iv) 9,275 (v) 10,265

1000 + 200+ 70 + 1=
(i) 11,271 (i) 1,271 (iii)) 1,261 (iv) 1,371 (v) 1,171

600 + 60 + 8=
(i) 1668 (ii) -9332 (iii) 658 (iv) 668 (v) 678

40 + 1=
(i) 51 (i) 10041 (iii) -59 (iv) 41 (v) 31

80000 + 4000 + 900 + 90 + 5=
(i) 84895 (ii) 85005 (iii) 84995 (iv) 85995 (v) 83995

30000 + 3000 + 400 +90 + 7=
(i) 43,497 (ii) 23,497 (iii) 33,497 (iv) 33,487 (v) 34,497
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80000 + 8000 + 200 + 80 + 6=
(i) 88,286 (ii) 87,286 (iii)) 98,286 (iv) 88,296 (v) 88,276

400000 + 90000 + 6000 + 800 + 70 + 7=
(i) 496887 (ii) 496867 (iii)) 496977 (iv) 486877 (v) 496877

600000 + 60000 + 3000 + 400 + 50 + 2=
(i) 6,63,452 (ii) 6,63,552 (iii) 6,63,352 (iv) 6,62,452 (v) 6,63,462

700000 + 80000 + 2000 + 200 + 10 + 3=
(i) 782,223 (ii) 782,213 (iii)) 782,313 (iv) 781,213 (v) 782,113

7000000 + 700000 + 40000 + 3000 + 800 + 10 + 7=
(i) 7742817 (ii) 7743917 (iii) 7753817 (iv) 7743717 (v) 7743817

9000000 + 300000 + 10000 + 6000 + 900 + 10 + 3=
(i) 93,17,913 (ii) 93,15,913 (iii)) 93,06,913 (iv) 93,16,913 (v) 93,17,013

9000000 + 700000 + 30000 + 3000 + 200 + 10 + 3=
(i) 9,743,213 (ii) 9,733,213 (iii) 9,723,213 (iv) 9,734,213 (v) 9,733,203

Write the number for the given expanded form :
"(3 x 100000) + (4 x 10000) + (6 x 1000) + (8 x 100) + (6 x 10)"

(i) 346850 (ii) 356860 (iii) 346860 (iv) 346960 (v) 346760

Write the number for the given expanded form :
"(4 x 100000) + (5 x 10000) + (7 x 1000) + (7 x 100) + (8 x 10) + (8 x 1)"

(i) 4,67,788 (ii) 4,47,788 (iii)) 4,57,888 (iv) 4,56,788 (v) 4,57,788

Write the number for the given expanded form :
"(4 x 100000) + (5 x 10000) + (2 x 1000) + (3 x 100) + (6 x 10) + (3 x 1)"

(i) 452,263 (ii) 442,363 (iii) 452,463 (iv) 452,363 (v) 452,373

Write the expanded form of the given number :235710
(i) (2 x 100000) + (3 x 10000) + (5 x 1000) + (7 x 100) + (2 x 10)

(if) (2 x 100000) + (2 x 10000) + (5 x 1000) + (7 x 100) + (1 x 10)
(iii) (2 x 100000) + (3 x 10000) + (5 x 1000) + (7 x 100) + (1 x 10)
(iv) (2 X 100000) + (3 x 10000) + (5 x 1000) + (7 x 100)

(v) (2 x 100000) + (3 x 10000) + (6 X 1000) + (7 x 100) + (1 x 10)

Write the expanded form of the given number :4,29,304
(i) (4 x 100000) + (1 x 10000) + (9 x 1000) + (3 x 100) + (4 x 1)

(ii) (4 x 100000) + (2 x 10000) + (9 x 1000) + (4 x 100) + (4 x 1)
(iii) (4 x 100000) + (2 X 10000) + (9 x 1000) + (2 X 100) + (9 x 10) + (4 x 1)
(iv) (4 x 100000) + (2 x 10000) + (9 x 1000) + (3 x 100) + (4 x 1)

(v) (4 x 100000) + (3 x 10000) + (9 x 1000) + (3 x 100) + (4 x 1)



26. Write the expanded form of the given number :416,745
(i) (4 x 100000) + (1 x 10000) + (6 x 1000) + (7 x 100) + (3 x 10) + (5 x 1)

(ii) (4 x 100000) + (1 x 10000) + (6 X 1000) + (8 x 100) + (4 x 10) + (5 x 1)
(iii) (4 x 100000) + (1 x 10000) + (6 x 1000) + (7 X 100) + (4 X 10) + (5 x 1)
(iv) (4 x 100000) + (1 x 10000) + (5 x 1000) + (7 x 100) + (4 x 10) + (5 x 1)

(v) (4 X 100000) + (1 X 10000) + (7 x 1000) + (7 x 100) + (4 x 10) + (5 x 1)



Assignment Key

1) (v) 2) (v) 3) (ii) 4) (i) 5) (v) 6) (iii)
7) (iv) 8) (ii) 9) (ii) 10) (iv) 11) (iv) 12) (iii)
13) (iii) 14) (i) 15) (v) 16) (i) 17) (ii) 18) (v)
19) (iv) 20) (ii) 21) (iii) 22) (v) 23) (iv) 24) (iii)
25) (iv) 26) (iii)
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